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BRAEHNEBENEDERE (BGL - B KW, 75 kWh, °C)
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Bs=XEAN (BHI: FKW, °C)
55 B5F U E = I
EAEN  HAEH FeXE ZAEH  HEAH EeXE FAEHN R4EH EERE RKEN XLEH EEXE
SENEF 122 238/7 31.1 130 238/9 33.6 123 238/8 32.1 213 23.8/10 33.8
MEEE DI 150  22.8/6 36.6 162 22.8/6 35.8 142 229/2 339 290 22.7/23 35.0
-y
BEBARE 150  22.8/6 36.6 162 22.8/6 35.8 144 19.8/3 37.0 200 22.7/23 35.0
Lz 25 ia
BAEN  FAEH EBEXER BRXEHN  E4EH BEXE BAXELN EAEH EEXE
SENE 136 238/ 9 34.0 235 23.8/10 36.6 307 238/9 32.7
MEE D% 170 22.8/5 36.6 304 228/24 37.6 356 228/5 349
y% = E £
BEZKEE 170 22.8/5 36.6 308 208/ 7 37.2 356 228/5 349
[lﬁ@§+rk
RESRIIBRTREHDIE
BEELH=E (BHI: HKWh)
55 5F ' E =
BELE FHEH AEHE FHER AELHE *HER HEHE FEH
SEDORR 2,648 23.8/10 2,599 23.8/ 9 2,579 238/ 9 4,136 23.8/10
MEEEDECE% 3,096 22.8/6 3,112 228/ 6 2,809 22.9/2 5,612 22.8/5
BEBKE [3,096] [22.8/6] [3,112] [22.8/ 6] [2,818] [18.8/17] [5,612] [22.8/ 5]
B AR A BLE 3,307 22.12/25 3,378 23.1/12 2,975 23.1/20 5,851 20.1/18
Lz 2E i
HEh=E FEH HEHE FHEH HEHE FAH
SEDRHK 2,601 238/ 9 4,589 23.8/10 6,053 238/ 9
MEEE DI 3,141 228/ 6 5,777 22.8/24 6,773 228/5
. - [3,141] [22.8/ 6] [5,871] [20.8/ 7] [6,773] [22.8/ 5]
ﬁ e E po
BEBARE 3,176 20.2/14 6,077 20.2/13 7,049 22.1/14





